

001                  002                  003                  004                  005                  006                  007                                                                                                                                                                    
001 следит за тем, кто следит за 002, т.е. за 005

002 следит за тем, кто следит за 003, т.е. за 006

003 следит за тем, кто следит за 004, т.е. за 007

004 следит за тем, кто следит за 005, т.е. за 001

005 следит за тем, кто следит за 006, т.е. за 002

006 следит за тем, кто следит за 007, т.е. за 003

007 следит за тем, кто следит за 001, т.е. за 004

Таким образом, агент 005 следит за агентом 002

